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Question Number : 1 Question Id : 6323865921 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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63238623681. 1
63238623682. 2
63238623683. 3
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Question Number : 2 Question Id : 6323865922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is not an economic activity?

1. Industrial production

[ o=

. Agriculture

L5

. Cogitating

4. Pastoralism

Options:



63238623685. 1
63238623686. 2
63238623687. 3

63238623688. 4
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63238623685. 1
63238623686. 2
63238623687. 3

63238623688. 4

Question Number : 3 Question Id : 6323865923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

Arrange the following in case of agricultural operations in order of their occurrence,

A, Winnowing

B. Ploughing

C. Protecting plants
D. Harvesting

E. Sowing

Choose the correct answer from the options given below:
1.B,E.C.D.A
2.E,C.B.A,D
3.E.C,B.D.A

4. B,E.A.D.C

Options:

63238623689. 1
63238623690. 2
63238623691. 3
63238623692. 4

Question Number : 3 Question Id : 6323865923 Question Type : MCQ Option Shuffling : No Is
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Options:

63238623689. 1
63238623690. 2
63238623691. 3
63238623692. 4
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Question Key Details :
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The process of migration from plain areas to pastures on taountain during summer and again from mountain pasturss to plain areas duning
winter is known ag:

1. Summer winter migration
2. Transhumance
3. Up down movement

4, Transformation

Options:

63238623693. 1
63238623694. 2
63238623695. 3

63238623696. 4

Question Number : 4 Question Id : 6323865924 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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63238623694. 2
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63238623696. 4

Question Number : 5 Question Id : 6323865925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List T with List IT

LIST I Economy LIST II Synonvms
Shifting Cultivation [ [Intensive farming

Hunting and Gathermg| 11 [Slash and burn

LA oriculture IIT. [Transhumance

=l Lol Lol e

Pastoralist Nomadism | IV, Foraging

Choose the correct answer from the options given below:

1. A-ITI, B-I1, C-IV, D-1

[ ]

. AL, B-IV, C-1, D-ITT
3. A-I, B-III, C-IV, D-II

4. A-IL, B-L, C-IV, D-III

Options :

63238623697. 1
63238623698. 2
63238623699. 3

63238623700. 4

Question Number : 5 Question Id : 6323865925 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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Options:

63238623697. 1
63238623698. 2
63238623699. 3

63238623700. 4
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Instruction Time: 0
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Comprehension MCQ




Which of the following is true about horticulture?

A Tt is one of the three main branches of anthropology.
B. It iz a method of agriculture.

C. It 1s related to the cultivation of fruits and vegetables.
D. It is one of the fishing methods.

E. It 1z dominated by women.

Choose the correct answer from the options given below:

1. Aand C only

b3

.B, C and E only

Taa

.Band C only

4. A, Cand D only

Options :

63238623701. 1
63238623702. 2
63238623703. 3
63238623704. 4
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Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Comprehension MCQ
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Options:

63238623701. 1
63238623702. 2
63238623703. 3
63238623704. 4

Question Number : 7 Question Id : 6323865927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




In food gathering societies, bands consist of small groups of:

1. Animals

[ B

. Families

%]

. Villages

4, Taluks

Options:

63238623705. 1
63238623706. 2
63238623707. 3
63238623708. 4

Question Number : 7 Question Id : 6323865927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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63238623705. 1
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63238623708. 4

Question Number : 8 Question Id : 6323865928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is not a food gathering tribe?

1. Birhors

[ ]

. Todas

. Kharia

T2

4. Chenchu

Options:

63238623709. 1
63238623710. 2
63238623711. 3

63238623712. 4

Question Number : 8 Question Id : 6323865928 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
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Question Key Details :

Key Value

Comprehension MCQ




[FafatEd @ 9 ©F |re 9980 Sl ol 67
1. foReR

. 2Isl

aTiar

13

Options:

| ]

LN

63238623709. 1
63238623710. 2
63238623711. 3
63238623712. 4

Question Number : 9 Question Id : 6323865929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following economies rely extensively on sharing and co-operation?

1. Horticulture

| ]

. Pastoralism

3. Foraging

4. Intensive Agriculture
Options:
63238623713. 1

63238623714. 2

63238623715. 3



63238623716. 4
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Instruction Time : 0
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63238623713. 1
63238623714. 2
63238623715. 3
63238623716. 4

Question Number : 10 Question Id : 6323865930 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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The Oraons of Chotanagpur use the missile called as to hunt small animals.

1. Bamboo

| ]

.Lebda
3. Boomerang

4. Bolt

Options:

63238623717.1
63238623718. 2
63238623719. 3

63238623720. 4
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63238623720. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
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Comprehension MCQ

The term 'genetics was coined by:

1. W.L. Johansen

I

. G.J. Mendel

L]

. William Batescon

4. Hugo de Vries

Options:

63238623721. 1
63238623722. 2
63238623723. 3
63238623724. 4
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63238623721. 1
63238623722. 2
63238623723. 3

63238623724. 4
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Gregor Mendel, conducted hybridization experiment on garden peas for:

1.4 years
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Options:
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63238623728. 4
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63238623725. 1
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Mendel observed that progeny of plants in F generation were:

1. 50% Tall

| )

. 50% Dwarf

All Tall

Laa

4, All Dwarf

Options:

63238623729. 1
63238623730. 2
63238623731.3
63238623732. 4
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63238623732. 4

Question Number : 14 Question Id : 6323865934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Who among the following may be considered as the first scholar to have attempted the ractal classification of India on a scientific basis?
1. Charles Lyel
2.HH Risley
3. JW, Watson
4.G. Covier

Options:

63238623733. 1
63238623734. 2
63238623735. 3

63238623736. 4
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63238623733. 1
63238623734. 2
63238623735. 3
63238623736. 4

Question Number : 15 Question Id : 6323865935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following blood group holder may be called as a 'universal donor'?

1. A group

| ]

. B group

3. O group

Ny

. AB group

Options:
63238623737. 1
63238623738. 2

63238623739. 3



63238623740. 4

Question Number : 15 Question Id : 6323865935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

[rafaRad & 4 oy vad 99z ard odfad o1 91dEe® Hardl #8d 87
1. A e 98

B Y& 93

O & TIE

. AB Yo 9Ig

| ]

Taa

HES

Options :

63238623737. 1
63238623738. 2
63238623739. 3
63238623740. 4
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Who. for the first time studied the nature of human blood in a scientific way?

1. Gregor Mendel

| B

. Karl Landsteiner

L]

. Watson and Crick

4, Sturli and Decastello

Options:

63238623741. 1
63238623742. 2
63238623743.3

63238623744. 4
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Question Number : 17 Question Id : 6323865937 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The racial type which has yellow or yellow brown skin colour with Eye fold is.

1. Negroid

[ ]

. Australoid

. Caucasoid

L]

4. Mongoloid

Options:

63238623745. 1
63238623746. 2
63238623747. 3
63238623748. 4
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63238623745. 1
63238623746. 2
63238623747.3

63238623748. 4
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Instruction Time : 0
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Question Key Details :

Key Value

Comprehension MCQ

The gradually increasing or decreasing frequency of a gene from one end of a region to another s called:
1. Gene flow
2. Genetic drift
3. Cline
4. Mutation
Options :
63238623749. 1

63238623750. 2
63238623751. 3



63238623752. 4

Question Number : 18 Question Id : 6323865938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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63238623749. 1
63238623750. 2
63238623751. 3
63238623752. 4
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Correct Marks : 5 Wrong Marks : 1
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Select the random process that affect gene frequencies in relatively small isolated population:

A. Gene flow

B. Cline

C. Genetic Dnift

D. Mutation

E. Bottleneck effect

Choose the correct answer from the options given below:
1. Aand B only
2.Band Conly
3.Cand D only

4.C and E only

Options :

63238623753. 1
63238623754. 2
63238623755. 3
63238623756. 4

Question Number : 19 Question Id : 6323865939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
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Options:

63238623753. 1
63238623754. 2
63238623755. 3

63238623756. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Match List I with List IT

LISTI LISTII

The total complement of inherited trait or
gene of an orgamsm

I. Pviutation

B LA change i the DNA sequence producing

II. |Allele
an altered gene
C. |The development of new species IT1. |Speciation
D. |One member of a pair of genes IV, |Genorype

Choose the correct answer from the options given below:

1. A-I, B-1II, C-III, D-IV

| ]

. AII, B-IIL, C-1. D-IV

ia

. A-IIL, B-IV, C-II, D-I

4. A-IV, B, C-IIL, D-II

Options:

63238623757. 1
63238623758. 2
63238623759. 3

63238623760. 4

Question Number : 20 Question Id : 6323865940 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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1. AL, B-IL, C-IIL, D-IV

[ ]

. AT, B-IIL C-I. D-IV

L]

. AT, B-IV. C-II, D-I

4. A-TV, B-I, C-III, D-II

Options:

63238623757. 1
63238623758. 2
63238623759. 3

63238623760. 4
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Correct Marks : 5 Wrong Marks : 1
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1 the study of how and why cultures in the past and present vary or are similar.

1. Physical Anthropology

| ]

. Cultural Anthropology

LN}

. Archaeological Anthropology

4. Comparative Anthropology

Options:

63238623761. 1
63238623762. 2
63238623763. 3

63238623764. 4
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Options:
63238623761. 1
63238623762. 2

63238623763. 3




63238623764. 4

Question Number : 22 Question Id : 6323865942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following are not the universal function of the family?

A. Care and rearmg of children m the family

B. Production and consumption for family needs

C. Providing complete knowledge to members

D. Meeting symbolic needs of members

E. To provide special rights and privileges to members of the family

Choose the correct answer from the options given below:

1. A and C only

[

.D and E only
3. Cand D only

4. A and B only

Options:

63238623765. 1
63238623766. 2
63238623767. 3
63238623768. 4

Question Number : 22 Question Id : 6323865942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

Frafafad 8 3 o 91 9RaR &1 aduifis o el &2

A, IRER ¥ g9 $f @YU 3R gra-0re

B. UROR &1 oedl & U Icie 3R @ud

C. & B quisiE UaH &l

D. HeHl B FellTeed STo=dl Pl G FHRAT

E. URIR & e o a2y HUPR R fORfIeR ugH & fau
e f4U U e T el 3O &1 99 BIIT:

1. Had AR C

2. FaAD ARE

3.%ad C AR D

4. Pad A IRB

Options:

63238623765. 1
63238623766. 2
63238623767. 3
63238623768. 4

Question Number : 23 Question Id : 6323865943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Rules that connect individuals with others because of known or presumed common ancestry are called as:
1. Rules of residence
2. Rules of family
3. Rules of descent

4. Rules of soctety

Options:

63238623769. 1
63238623770. 2
63238623771.3
63238623772. 4

Question Number : 23 Question Id : 6323865943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

ey i1 A a1 SFATHG QIR 99 & PR oafda] 1 geRl 9 §llsd &, Peald o
1. Farg o1 Fam
2. URaR &
3. 99 % fam
4, FHS & fuH

Options:

63238623769. 1
63238623770. 2
63238623771.3



63238623772. 4

Question Number : 24 Question Id : 6323865944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List T with List IT

LIST I Marriage between LIST II Family called at
A_ [One man and one women I. |Polvandrous family
E. |One woman and two brothers| 11 [Polygynous family
C. |One woman and two men II1. [Fratemal Polyandrous family
D. |One man and two women IV, IMonogamous famaily

Choose the correct answer from the options given below:

1. A-IV, B-IL, C-III, D-IT

[ ]

. A-TV, B-IIL, C-1, D-TI
3. AL, B-IV, C-II, D-III

4. A-IL, B-IV, C-1, D-III

Options :

63238623773. 1
63238623774. 2
63238623775. 3

63238623776. 4

Question Number : 24 Question Id : 6323865944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
Il 1 9= 11 1 T B3
I II
A 0P 3T 3R TS Figal I [§guidd URaR
B. [0@ Afed AR &l YR 1L [sgfdared gar
C. [uP Aigal R &l oy 111 [41d dgal ORaR
D. [0® ToN 3R &l Hiedl V. [0ed UdiH gfar
i 3T U $e ¥ Hel SR &1 19 DIOIT:

1. A-TV, B-1, C-TII, D-TI
2. A-IV, B-IIL C-I, D-II
3. A-I, B-IV, C-II, D-III

4. AII, B-IV, C-I, D-III

Options:

63238623773. 1
63238623774. 2
63238623775. 3

63238623776. 4

Question Number : 25 Question Id : 6323865945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Both matrilocal and patrilocal residence were found among of India.

1. Garos

| B

. Chenchus

. Khasis

LFS)

4. Nayars

Options:

63238623777. 1
63238623778. 2
63238623779. 3
63238623780. 4

Question Number : 25 Question Id : 6323865945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
YR & 14 g [(Hars gran Siral 6 e

1. 7RI
2. 999
3, @t
4. FTR]

Options:

63238623777. 1
63238623778. 2
63238623779. 3



63238623780. 4

Question Number : 26 Question Id : 6323865946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Arrange the trophic levels in a sequence in an ecosystem.

A. Tertiary Consumer
B. Primary Producer

C. Secondary Consumer
D. Primary Consumer

Choose the correct answer from the options given below:

1.LA,D,C.B

[ ]

JCAB.D

[F%]

BdBA

4.B,D,C,A

Options :

63238623781. 1
63238623782. 2
63238623783. 3
63238623784. 4

Question Number : 26 Question Id : 6323865946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

US Uida o U0l ¥R 1 6H B ogafeyd o3
A. gD FUHIE

B. WY& IdIGD
c. fedior Iuyia
D. WS IuHia

i fGT U P I el SR &1 IH1d DI

1.A.D.C.B

3]

C.A.B,D
3.D.C.B.A

4.B.D.C.A

Options:

63238623781. 1
63238623782. 2
63238623783. 3
63238623784. 4

Question Number : 27 Question Id : 6323865947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the following in a sequence m food chain.

A, Lizard

B. Grass

C. Hawk

D. Grasshopper

Choose the correct answer from the options given below:

1.A;D,C.,B

[ ]

B.C.A.D

[FY]

Bl A C

4.A,C.D.B

Options:

63238623785. 1
63238623786. 2
63238623787. 3

63238623788. 4

Question Number : 27 Question Id : 6323865947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




afdiad ®f @ Yaa § U BH H oIad @1

A Tgmal
B.9Y

C. &
D.fegr
- faU T $e I Yel 3R &1 ZH1d DIfTT:

18,00 B

]

.B,C.A,D
3.B.D.A.C

4.A.C,D,B

Options :

63238623785. 1
63238623786. 2
63238623787. 3

63238623788. 4

Question Number : 28 Question Id : 6323865948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Temperature 1s Subzero in:

A. Polar areas

B. Tropic of cancer

C. Arctic and Alpine tundra
D. High Altitudes

E. Tropic of Capricorn

Choose the correct answer from the options given below:

1. A, Cand E only

b3

LA, Cand D only

Taa

.C.D and E only

4.B. C and E only

Options :

63238623789. 1
63238623790. 2
63238623791. 3
63238623792. 4

Question Number : 28 Question Id : 6323865948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




99 3 9 &
A. 4drg &4
B. i@l
C. P SR SIS U]

D. 39 TH
E. HH I 3d@]

9 fRU 10 g | Gel SR &1 g9 ST
1.PadA A, C IR E
2. FAAA, CAHRD
3. H3AC, D ARE
4. PaAB, C ARE

Options:

63238623789. 1
63238623790. 2
63238623791. 3
63238623792. 4

Question Number : 29 Question Id : 6323865949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Culture 1s not.

1. Transmitted

| B

. Shared

. Learnt

T

4. Inherited

Options:

63238623793. 1
63238623794. 2
63238623795. 3

63238623796. 4

Question Number : 29 Question Id : 6323865949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

1. UHIRd

2. geuIord

3. Far

4. GEITT
Options:
63238623793. 1

63238623794. 2

63238623795. 3



63238623796. 4

Question Number : 30 Question Id : 6323865950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List T with List IT

LIST1 LISTII
Cause Effect
A Mercury I JAcid rain
B. |Oxides of Sulphur and mitrogen I1. |Carbon dioxide
C. |Green house gases 1L Minimata
D. [Fertilizers and Pesticides IV |Green revolution

Choose the correct answer from the options given below:

1. A-IT, B-TIL, C-IV, D-I

]

. A-TIT, B-L, C-I1, D-IV

L]

. AL, B-III, C-IV, D-II

4. A-I B-IL C-IIL, D-IV

Options:

63238623797. 1
63238623798. 2
63238623799. 3
63238623800. 4

Question Number : 30 Question Id : 6323865950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
el 19 = 11 ] T &
A1 gat o
PRI THIT
A [REY L [epaamt
B. [ge® AR Ao & HIHEs | L [Fed SEHeEEs
C. [(fHe3g 0g 111 [T
D. [3a3% AR Pl 49D IV [gRd w1
i 3T U $e ¥ Hel SR &1 19 DIOIT:

1. A-TL, B-TII, C-IV, D-I
2. AL, B-L, C-II, D-IV
3. A-I, B-III, C-IV, D-II

4. AL, B-IL, C-IL, D-IV

Options:

63238623797. 1
63238623798. 2
63238623799. 3

63238623800. 4

Question Number : 31 Question Id : 6323865951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Tn this technique. generally hollow bone, hard wood and medium sized pebble stone are used to make different types of tools,
1. Stone hammer technique
2. Anvil technique
3, Cylinder hammer technique

4, Controlled flaking technique

Options:

63238623801. 1
63238623802. 2
63238623803. 3

63238623804. 4

Question Number : 31 Question Id : 6323865951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

swﬁm%ﬁ TR W e 3, FOR TS| 3% TR & B R WG 1 U [ YR & 3o & 4 g

1. FER B ot

)RR e

3 ORI T

4, G e T
Options:

63238623801. 1

63238623802. 2




63238623803. 3

63238623804. 4

Question Number : 32 Question Id : 6323865952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

On a core tool from which the flake has been struck off there 1s seen a depressed portion corresponding to the
raised portion on the flake. This portion 1s known as:

L. Bulb of percussion
2. Cortex surface
3. Low leaf pomt

4. Negative bulb of percussion

Options:

63238623805. 1
63238623806. 2
63238623807. 3
63238623808. 4

Question Number : 32 Question Id : 6323865952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




%quwﬁ@wﬁwﬁmw%ﬂﬁ@%ﬁ%wwww@amﬁww

1. T &g

2, VTR Ha8

3. H Tl g

4, VT 3T e

Options:

63238623805. 1
63238623806. 2
63238623807. 3

63238623808. 4

Question Number : 33 Question Id : 6323865953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Arrange the following in chronological order of their use beginning from the oldest to the newest.

A. Iron tools

B. Stone tools
C. Copper tools
D. Bone tools

Choose the correct answer from the options given below:
1.B,D.C.A
2A,B.C.D
3.C,D,B.A

4.B,A.D,C



Options:

63238623809. 1
63238623810. 2
63238623811.3

63238623812. 4

Question Number : 33 Question Id : 6323865953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

fraferRad 1 3 IUGN & SIArhia® HH H ogaryd &%

A @8 AWR

B. TR & 3oR
C. did & 3UFH]
D. 8351 & JUSH

el f3U U Foe ¥ Hel TR &1 19 FIIC:

1.B.D,C.A

2.A.B.C.D
3¢, D, B, A

4.B,A.D.C

Options:

63238623809. 1
63238623810. 2
63238623811. 3

63238623812. 4



Question Number : 34 Question Id : 6323865954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Bronze iz a combination of;

A Iron
B.Lead
C. Copper
D. Zinc

E. Tin

Choose the correct answer from the options given below:

1. Aand C only

[

A, Cand E only

Taa

. C and E only

4. B and D only

Options :

63238623813. 1
63238623814. 2
63238623815. 3
63238623816. 4

Question Number : 34 Question Id : 6323865954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

DI GG &

A, TTEl
B. W&
C. didn
D. fSi®
E feq

i AU Y e ¥ Hel ST & 98- HIfog:
1. Bac A R C
2. HATA, C IR E
3.0 C IRE
4. %ad B R D

Options:

63238623813. 1
63238623814. 2
63238623815. 3
63238623816. 4

Question Number : 35 Question Id : 6323865955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the following tools in chronological order.

A. Scraper - Cum- Borer
B. Iron implements

C. Chopper/Chopping tools
D. Microliths

E. Blade tools

Choose the correct answer from the options given below:

1.AB.CDE

-

C,A.E.D.B
3.E.D.A.B.C

4.A.C,D,E.B

Options:

63238623817. 1
63238623818. 2
63238623819. 3
63238623820. 4

Question Number : 35 Question Id : 6323865955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Frafdfed Susul & Bie-stie on § affyd o3

A, GTEHI-FE-aRR

B. Tig & 3R

C. AT/ 3UEH Il
D. TUINI0] FUHRT
E. Bad UG

il faU U Fe ¥ el IR DI 9g- BHIfog:

1.A.B.C.D.E

]

C.A.E.D.B
3.E.D.A.B.C

4.A,C.,D.E.B

Options:

63238623817. 1
63238623818. 2
63238623819. 3

63238623820. 4

Question Number : 36 Question Id : 6323865956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List I with List IT Tool with Tool Families

LIST I Tool LIST II Tool Families

A |Core tool 1. |Flake tool industry
E. [Flake tool II. |Antler
C. |[Bone tool II1 |Celts
D. [Neolithic tool | IV, |Chopper Chopping

Choose the correct answer from the options given below:

1. A-I, B-II, C-I11, D-IV

[ ]

. AL, B-I, C-IV, D-III
3. A-IIL, B-IL, C-I, D-IV

4. ATV, B-I, C-TI, D-III

Options:

63238623821. 1
63238623822. 2
63238623823. 3

63238623824. 4

Question Number : 36 Question Id : 6323865956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




el 1 % JUSHIU ] Yl 11 & URaR & 1Y Faferd &

I 11
31:1@;@1 Eﬁ:%ﬁuﬁan
B FUBL 1 [oRd JUaRul 3|
0%d 3UHI I (971 47
BSl & ISR | 111 [eeq
FAUTHTI] Jud o IV. [=FIge 91

il faU 70 &e ¥ el TR &1 H1d DIIU:

1. A-I, B-II, C-IIL, D-IV

olo]w]>

2. A-IL, B-I, C-IV, D-III
3. AL, B-IL, C-1. D-IV

4. A-IV, B-I, C-II, D-III

Options:

63238623821. 1
63238623822. 2
63238623823. 3
63238623824. 4

Question Number : 37 Question Id : 6323865957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Soan valley in one of the most important sources of which culture in India?

—

. Upper Palaeolithic

[ =

. Middle Palaeolithic

. Lower Palaeolithic

L]

Ny

. Neolithic period

Options:

63238623825. 1
63238623826. 2
63238623827.3
63238623828. 4

Question Number : 37 Question Id : 6323865957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T °91ET YR @1 DIH dl 92d1 B U Hew@yy Wid o2
1. SEURIOTITSI0] ST

A YRTATSTO] ST

AEEENEIR I

4. TdUYIU] ol

[ ]

T2

Options:

63238623825. 1
63238623826. 2
63238623827. 3



63238623828. 4

Question Number : 38 Question Id : 6323865958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Basketery and weaving first appeared in:

1. Mesolithic

[ ]

. Neolithic

. Lower Palacolithic

LN ]

N

. Upper Palaeolithic

Options:

63238623829. 1
63238623830. 2
63238623831. 3
63238623832. 4

Question Number : 38 Question Id : 6323865958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




I 91ET YRd B B Ul §2dT B1 TP Hew@qul Wid 82
1. S RIUTYTSI0] BT

ARSI T

g eI

4, IdUTHIU] P

[ ]

L%}

Options:

63238623829. 1
63238623830. 2
63238623831. 3

63238623832. 4

Question Number : 39 Question Id : 6323865959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The period of moderate climate in between two ice ages 1s called as:

1. Pluvial

| )

. Inter - Pluvial

L]

. Inter - Glacial

4. Moraine

Options:
63238623833. 1
63238623834. 2

63238623835. 3



63238623836. 4

Question Number : 39 Question Id : 6323865959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

& Tl & e ol wmEiidior Gadr] 31 $afd searnd ¢:
1. Helaivepra
4. feriie

[ ]

Taa

Options:

63238623833. 1
63238623834. 2
63238623835. 3
63238623836. 4

Question Number : 40 Question Id : 6323865960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




The Northern Neolithic culture s represented by the site Burzahom' which 1s situated in:

1. Aurangabad

| B

. Lucknow

. Himachal Pradesh

L)

4. Kashmir

Options:

63238623837. 1
63238623838. 2
63238623839. 3

63238623840. 4

Question Number : 40 Question Id : 6323865960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TR AqYTII0] HEH ] 1 UfH1ea goierd § [RUd ®d k1 {aa1 offel 6
1. TG

TS

ferHEE wEw

4, YR

| ]

L]

Options:
63238623837. 1
63238623838. 2

63238623839. 3
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Question Number : 41 Question Id : 6323865961 Question Type : MCQ Option Shuffling : No Is
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Comprehension Comp1

Decomposers break down complex organic matter into inorganc substances like Carbon dioxide, water and nutrients and the process is
called decomposition. Dead plant remains such as leaves, bark, flowers and dead remains of animals. including faccal matter constifute
detritus, which 1s the raw material for decornposttion. The important steps in the process of decompasition are frapmentation, leaching,
catabolism, hurnification and mineralisation. Detritivore (e.g.: earthworm) break down detritus tnto smaller particles. This process is
called fragmentation. By the process of leaching, water-soluble organic nutrients go dovwn into soil horizon and get precipitated as
unavailable salts. Bactertal and fungal enzymes degrade detritus nto simpler morganic substances. This process is called as catabolism.

The best tittle for the given passage could be.

1. Fragmentation

| B

. Decomposition

a2

. Mineralisation

4, Dead plants

Options:
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63238623843. 3
63238623844. 4
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Comprehension Comp1

Decotnposers break down complex organic matter into inorganc substances like Carbon dioxide, water and nutrients and the process is
called decomposition. Dead plant remains such as leaves, bark, flowers and dead remains of animals, including faccal matter constitute
detritus, which 1s the raw material for decornposition. The important steps in the process of decompasition are frapmentation, leaching,
catabolism, hunification and mineralisation. Detritivore (.2, earthworm) break dovn detritus into smaller particles. This process is
called fragmentation. By the process of leaching, water-soluble organic mutrients go down into soil horizon and get precipitated as
unavatlable salts, Bacterial and fungal enzymes degrade defritus info simpler moveanic substarices. This process 1s called as catabolism.

Which one of the following is not a Detritivore?

1. Rabbit

[ B

. Fungus
3. Vulture

4. Earthworm
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Decomposers break down complex organic matter into inorganc substances like Carbon dioxide, water and nutrtents and the process is
called decomposition. Dead plant remains such as leaves, bark, flowers and dead remains of animals, including faccal matter constitute
detritus, which 1& the taw material for deconposition. The important steps in the process of decomposition are frapmentation, leaching,
catabolism, hurnification and mineralisation. Detritivore (e.g.: earthworm) break down detritus into smaller particles. This process s
called fragmentation. By the process of leaching, water-soluble organic mutrients go down into soil horizon and get precipitated as
unavailable salts. Bactertal and fungal enzymes degrade detritus into simpler morganic substances. This process is called as catabolism.

Water-scluble imorganic nutrients go dovn into the seil horizon and get precipitated as unavailable salts by a process called as:
1 Fragmentation
1. Catabolsm
3. Leaching

4. Salination

Options:
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Question Number : 44 Question Id : 6323865964 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1

Decotnposers break down complex orgaric matter into inorganic substances like Carbon dioxide, water and nutrients and the process is
called decomposition. Dead plant remains such as leaves, bark, flowers and dead remains of animals, including faccal matter constitute
etritus, which 1s the taw material for decomposition. The important steps in the process of decomposition are fragmentation, leaching,
catabolism, hurnification and mineralisation. Detritivore (e.g.: earthworm) break down detritus into smaller particles. This process s
called frasmentation. By the process of leaching, water-soluble organic nutrients go down into soil horizon and get precipitated as
unavailable salts. Bactertal and fungal enzymes degrade detritus nto simpler morganic substances. This process is called as catabolism.




Decomposes break down complex organic matter into:

1. Simple organic matter

[ ]

. Inorganic substances

. Detritus

LN ]

4, Faecal matter

Options:
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63238623855. 3
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Question Number : 45 Question Id : 6323865965 Question Type : MCQ Option Shuffling : No Is
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Question Key Details :
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Comprehension Comp1

Decomposers break down eomplex organic matter into inorganic substances like Carbon dioxide, water and nutrtents and the process is
called decomposition. Dead plant remains such as leaves, bark, flowers and dead remains of animals, including faccal matter constitute
detritus, which 1& the taw material for deconposition. The important steps in the process of decomposition are frapmentation, leaching,
catabolism, hurntfication and mineralisation. Detritivore (e.g.: earthworm) break down detritus into smaller particles. This process s
called fragmentation. By the process of leaching, water-soluble organic mtrients go down into soil horizon and get precipitated as
unavailable salts. Bactertal and fungal enzymes degrade detritus into simpler morganic substances. This process is called as catabolism.



Earthworm 1% a:

1. Detritus

[ ]

. Bacteria

LN ]

. Fungi

4, Detrivore
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Comprehension Comp2

The Misings perform some religious rites associated with agriculture. At the advent of monsoon and before the
sowing of seeds. they perform Ali-Aye-Ligang. Ceremonual sowing of paddy starts on this day. In the middle
of cultivation, in the month of Octaber, they perform the Sorog Puja so that the ancestor spirits may protect the
plants from pests or other natural calamities, After harvesting of the crops, they offer Dobur Puja. The Misings
also believe that Kuber 1s the God or Lakshmi 15 the Goddess of wealth and agriculture and hence the first
bundle of paddy 1s used in her name. Before they partake of the new rice, they also give a ceremonial offering
to the ancestral spirits.




"Ali - Aye Ligang" 1s performed by Misings:
1. After the winter season
2. After harvesting of the crops
3. Before sowing of seeds

4. Before harvesting crops

Options:

63238623861. 1
63238623862. 2
63238623863. 3

63238623864. 4

Question Number : 46 Question Id : 6323865966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2
TR B 4 o6 30 Yie oYM SR 6| B B ST TR 3R dfe a8 g d ofef- - e
mﬁ%ﬂaﬁﬁ?{%ﬂqﬁaﬁwﬁa T@ﬁﬁmmﬁ HER & Tgi- 4, d IR GH P &

e gl &1 mﬁﬁﬁﬁammwﬁr AT

Waﬁmwaaamgaﬂﬁ%ﬁrﬁmaﬁﬁmmﬁméﬁﬁwmmmﬁw
et geis IR S 31 4d & AR SO 3% TR Y 3l Uged Tl 1 Swm o W B | 5
%ﬁ%éﬁqwaﬁéﬁwqﬁﬁqﬁﬁa{mﬁﬁmﬁaﬁﬂﬁﬁ%l



"3t - U- fort i g1 fear urar g1

—

YRGB D dlG

[ ]

.Y e & dla

G E R R |

L]

4. YA HTc I U5

Options:

63238623861. 1
63238623862. 2
63238623863. 3

63238623864. 4
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Question Key Details :

Key Value

Comprehension Comp2

The Misings perform some religious rites associated with agriculture. At the advent of monsoon and before the
sowing of seeds. they perform Ali-Aye-Ligang. Ceremonual sowing of paddy starts on this day. In the middle
of cultivation, in the month of Octaber, they perform the Sorog Puja so that the ancestor spirits may protect the
plants from pests or other natural calamities, After harvesting of the crops, they offer Dobur Puja. The Misings
also believe that Kuber 1s the God or Lakshmi 15 the Goddess of wealth and agriculture and hence the first
bundle of paddy 1s used in her name. Before they partake of the new rice, they also give a ceremonial offering
to the ancestral spirits.



Misings perform the religious rites which are associated with.

1. Shifting or Thum cultivation

[ ]

. Horticulture

L]

. Fishing

4. Agriculture
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Question Number : 48 Question Id : 6323865968 Question Type : MCQ Option Shuffling : No Is
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Question Key Details :
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Comprehension Comp2

The Misings perform some religious rites associated with agriculture. At the advent of monsoon and before the
sowing of seeds. they perform Ali-Aye-Ligang. Ceremonual sowing of paddy starts on this day. In the middle
of cultivation, in the month of Octaber, they perform the Sorog Puja so that the ancestor spirits may protect the
plants from pests or other natural calamities, After harvesting of the crops, they offer Dobur Puja. The Misings
also believe that Kuber 1s the God or Lakshmi 15 the Goddess of wealth and agriculture and hence the first
bundle of paddy 1s used in her name. Before they partake of the new rice, they also give a ceremonial offering
to the ancestral spirits.



In the month of October, the Misings perform:

1. Ali - Aye - Ligang

| B

. Dobur Puja

i

. Sorog Puja

e

. Durga Puja
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
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Question Key Details :

Key Value

Comprehension Comp2

The Misings perform some religious rites associated with agriculture. At the advent of monsoon and before the
sowing of seeds. they perform Ali-Aye-Ligang. Ceremonual sowing of paddy starts on this day. In the middle
of cultivation, in the month of Octaber, they perform the Sorog Puja so that the ancestor spirits may protect the
plants from pests or other natural calamities, After harvesting of the crops, they offer Dobur Puja. The Misings
also believe that Kuber 1s the God or Lakshmi 15 the Goddess of wealth and agriculture and hence the first
bundle of paddy 1s used in her name. Before they partake of the new rice, they also give a ceremonial offering
to the ancestral spirits.



The Misings believe that 'Kuber' 1s the God of:
1. Health and Wealth
2. Wealth and Agriculture
3. Health and Agriculture

4. Happiness and Wealth

Options:

63238623873. 1
63238623874. 2
63238623875. 3
63238623876. 4

Question Number : 49 Question Id : 6323865969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2
TR P 3 TS P U SIS 6% ¢ | AR & ST R 3R 4 a1 3 U5 d ofefl-affg- e
wﬁ%ﬂgﬂﬁ?mﬁaﬁuﬂm T@ﬁﬂmmﬁ IR & TgI 1, o HRA U P &

iy el aw@dhﬁﬁaﬂﬁmmwﬁ— MEA T

Waﬁmm&,aaﬁmgaﬂﬁﬁﬁwﬁmﬂﬁwéﬁﬁwmaﬁ?w LR
el TG SR P 1 <l § AR ST 3Tk 1T R 41 1 U5l T6R) o] G [ Tl 3| 5
5l i d U A1 1 6, 3 e U5 Qo a1 e 1 ST He 3 8



AT AT PR DI GG AT
1. T 3R 9HiE &

(& SR B &1

AT 3R B &I

g3 3R ThfE &1

Options:

| 5

faa

s

63238623873. 1
63238623874. 2
63238623875. 3
63238623876. 4

Question Number : 50 Question Id : 6323865970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2

The Misings perform some religious rites assoctated with agriculture. At the advent of monsoon and before the
sowing of seeds. they perform Ali-Aye-Ligang. Ceremonial sowing of paddy starts on this day. In the middle
of cultrvation, in the month of October, they perform the Sorog Puja so that the ancestor spirits may protect the
plants from pests or other natural calammities, After harvesting of the crops, they offer Dobur Puja. The Misings
also believe that Kuber 15 the God or Lakshmi 1s the Goddess of wealth and agriculture and hence the first
bundle of paddy 1s used in her name. Before they partake of the new rice, they also give a ceremonial offering
to the ancestral spirits.



Misings perform 'Sorog Puja' so that the ancestors spirit may protect the plants from:

1. Dogs or other natural calamities

[ R

. Cows or other natural calamities
3. Pests or other natural calamities

4. Birds or other natural calamities

Options:
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63238623880. 4
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